

Q.9. Let $\tan^{-1} \sqrt{x} = \frac{1}{2} \cos^{-1} \left(\frac{1-x}{1+x} \right)$, $x \in [0, 1]$ Date: / /
 prove that

Soln: It is given that $\tan^{-1} \sqrt{x} = \frac{1}{2} \cos^{-1} \left(\frac{1-x}{1+x} \right)$
 $x \in [0, 1]$

$$\begin{aligned} \text{L.H.S.} &= \tan^{-1} \sqrt{x} = \frac{1}{2} (2 \tan^{-1} \sqrt{x}) \\ &= \frac{1}{2} \times \cos^{-1} \frac{1-(\sqrt{x})^2}{1+(\sqrt{x})^2} \quad [\because \tan^{-1} x = \cos^{-1} \frac{1-x^2}{1+x^2}] \\ &= \frac{1}{2} \cos^{-1} \left(\frac{1-x}{1+x} \right) = \text{R.H.S.} \end{aligned}$$

Q.10. $\cot^{-1} \left(\frac{\sqrt{1+\sin x} + \sqrt{1-\sin x}}{\sqrt{1+\sin x} - \sqrt{1-\sin x}} \right) = \frac{x}{2}$, $x \in (0, \frac{\pi}{4})$
 prove that

Soln: It is given that

$$\cot^{-1} \left(\frac{\sqrt{1+\sin x} + \sqrt{1-\sin x}}{\sqrt{1+\sin x} - \sqrt{1-\sin x}} \right) = \frac{x}{2} \quad x \in (0, \frac{\pi}{4})$$

$$\text{L.H.S.} = \cot^{-1} \left(\frac{\sqrt{1+\sin x} + \sqrt{1-\sin x}}{\sqrt{1+\sin x} - \sqrt{1-\sin x}} \right) \quad \text{--- (I)}$$

$$\begin{aligned} \text{Now, } \sqrt{1+\sin x} &= \sqrt{\sin^2 \frac{x}{2} + \cos^2 \frac{x}{2} + 2 \sin \frac{x}{2} \cos \frac{x}{2}} \\ &= \sqrt{\left(\sin \frac{x}{2} + \cos \frac{x}{2} \right)^2} \end{aligned}$$

$$= \sin \frac{x}{2} + \cos \frac{x}{2} \quad \left[\because \sin^2 \frac{x}{2} + \cos^2 \frac{x}{2} = 1 \right. \\ \left. \text{and } \sin x = 2 \sin \frac{x}{2} \cos \frac{x}{2} \right]$$

$$\text{Similarly, } \sqrt{1-\sin x} = \cos \frac{x}{2} - \sin \frac{x}{2}$$

Then, by (I)

$$\begin{aligned} \text{L.H.S.} &= \cot^{-1} \frac{\sqrt{1+\sin x} + \sqrt{1-\sin x}}{\sqrt{1+\sin x} - \sqrt{1-\sin x}} = \cot^{-1} \frac{\left(\sin \frac{x}{2} + \cos \frac{x}{2} + \cos \frac{x}{2} - \sin \frac{x}{2} \right)}{\left(\sin \frac{x}{2} + \cos \frac{x}{2} - \cos \frac{x}{2} + \sin \frac{x}{2} \right)} \\ &= \cot^{-1} \left(\frac{2 \cos \frac{x}{2}}{2 \sin \frac{x}{2}} \right) = \cot^{-1} \left(\cot \frac{x}{2} \right) = \frac{x}{2} = \text{R.H.S.} \end{aligned}$$

Second Method.

Miscellaneous

02-06-2020

Q.10

$$\Delta.H.S - \cot^{-1} \left[\frac{\sqrt{1+\sin x} + \sqrt{1-\sin x}}{\sqrt{1+\sin x} - \sqrt{1-\sin x}} \right]$$

$$= \cot^{-1} \left[\frac{(\sqrt{1+\sin x} + \sqrt{1-\sin x})}{\sqrt{1+\sin x} - \sqrt{1-\sin x}} \times \frac{\sqrt{1+\sin x} + \sqrt{1-\sin x}}{\sqrt{1+\sin x} + \sqrt{1-\sin x}} \right]$$

$$= \cot^{-1} \left[\frac{(\sqrt{1+\sin x} + \sqrt{1-\sin x})^2}{(\sqrt{1+\sin x})^2 - (\sqrt{1-\sin x})^2} \right]$$

$$= \cot^{-1} \left[\frac{1 + \sin x + 1 - \sin x + 2\sqrt{1-\sin^2 x}}{1 + \sin x - 1 + \sin x} \right]$$

$$= \cot^{-1} \left[\frac{2 + 2\cos x}{2\sin x} \right] \left[\because \cos^2 x + \sin^2 x = 1 \Rightarrow \cos x = \sqrt{1-\sin^2 x} \right]$$

$$= \cot^{-1} \left[\frac{1 + \cos x}{\sin x} \right] = \cot^{-1} \left[\frac{2\cos^2 \frac{x}{2}}{2\sin \frac{x}{2} \cos \frac{x}{2}} \right]$$

$$= \cot^{-1} \left[\cot \frac{x}{2} \right] = \frac{x}{2} = R.H.S$$

$$\left[\because 1 + \cos x = 2\cos^2 \frac{x}{2} \text{ and } \sin x = 2\sin \frac{x}{2} \cos \frac{x}{2} \right]$$

[You always remember that
if $x \in (0, \frac{\pi}{2})$, then $\sqrt{1-\sin x} = \cos \frac{x}{2} - \sin \frac{x}{2}$
and if $x \in (\frac{\pi}{2}, \pi)$, then $\sqrt{1-\sin x} = \sin \frac{x}{2} - \cos \frac{x}{2}$

Q.11: Prove that $\tan^{-1} \left(\frac{\sqrt{1+x} - \sqrt{1-x}}{\sqrt{1+x} + \sqrt{1-x}} \right) = \frac{\pi}{4} - \frac{1}{2} \cos^{-1} x$

Soln: Let $x = \cos \theta \Rightarrow \theta = \cos^{-1} x$

$$\tan^{-1} \left(\frac{\sqrt{1+x} - \sqrt{1-x}}{\sqrt{1+x} + \sqrt{1-x}} \right) = \tan^{-1} \left(\frac{\sqrt{1+\cos \theta} - \sqrt{1-\cos \theta}}{\sqrt{1+\cos \theta} + \sqrt{1-\cos \theta}} \right)$$

$$= \tan^{-1} \left[\frac{\cancel{52} \cos \frac{A}{2} - \cancel{52} \sin \frac{A}{2}}{\cancel{52} \cos \frac{A}{2} + \cancel{52} \sin \frac{A}{2}} \right] \left[\begin{array}{l} \because 1 + \cot A = 2 \cos \frac{A}{2} \\ 1 - \cot A = 2 \sin \frac{A}{2} \end{array} \right]$$

$$= \tan^{-1} \left[\frac{\cancel{52} (\cos \frac{A}{2} - \sin \frac{A}{2})}{\cancel{52} (\cos \frac{A}{2} + \sin \frac{A}{2})} \right] = \tan^{-1} \left[\frac{\cos \frac{A}{2} - \sin \frac{A}{2}}{\cos \frac{A}{2} + \sin \frac{A}{2}} \right]$$

$$= \tan^{-1} \left[\frac{\cos \frac{A}{2} \left(1 - \frac{\sin \frac{A}{2}}{\cos \frac{A}{2}} \right)}{\cos \frac{A}{2} \left(1 + \frac{\sin \frac{A}{2}}{\cos \frac{A}{2}} \right)} \right] = \tan^{-1} \left[\frac{1 - \tan \frac{A}{2}}{1 + \tan \frac{A}{2}} \right]$$

$$= \tan^{-1} \left[\tan \left(\frac{A}{4} - \frac{\pi}{2} \right) \right]$$

$$= \frac{A}{4} - \frac{\pi}{2} \quad \left[\because \tan(A+B) = \frac{\tan A + \tan B}{1 - \tan A \tan B} \right]$$

$$= \frac{A}{4} - \frac{1}{2} \cos^{-1} x \quad [\tan(\tan^{-1} x) = x]$$

Q. 12. prove that $\frac{9\pi}{8} - \frac{9}{4} \sin^{-1} \left(\frac{1}{3} \right) = \frac{9}{4} \sin^{-1} \left(\frac{2\sqrt{2}}{3} \right)$

Soln: It is given that $\frac{9\pi}{8} - \frac{9}{4} \sin^{-1} \left(\frac{1}{3} \right) = \frac{9}{4} \sin^{-1} \left(\frac{2\sqrt{2}}{3} \right)$

$$\Rightarrow \frac{9\pi}{8} = \frac{9}{4} \sin^{-1} \left(\frac{1}{3} \right) + \frac{9}{4} \sin^{-1} \left(\frac{2\sqrt{2}}{3} \right)$$

$$\Rightarrow \frac{9\pi}{8} = \frac{9}{4} \left[\sin^{-1} \left(\frac{1}{3} \right) + \sin^{-1} \left(\frac{2\sqrt{2}}{3} \right) \right]$$

$$\text{R.H.S} = \frac{9}{4} \left[\sin^{-1} \left(\frac{1}{3} \right) + \sin^{-1} \left(\frac{2\sqrt{2}}{3} \right) \right]$$

$$= \frac{9}{4} \left[\sin^{-1} \left\{ \frac{1}{3} \sqrt{1 - \left(\frac{2\sqrt{2}}{3} \right)^2} + \frac{2\sqrt{2}}{3} \sqrt{1 - \left(\frac{1}{3} \right)^2} \right\} \right]$$

$$\left[\because \sin^{-1} u + \sin^{-1} v = \sin^{-1} \{ u \sqrt{1-v^2} + v \sqrt{1-u^2} \} \right]$$

$$\begin{aligned}
 &= \frac{9}{4} \left[\sin^{-1} \left(\frac{1}{3} + \frac{1}{3} + \frac{2\sqrt{2}}{3} \times \frac{\sqrt{2}}{3} \right) \right] \\
 &= \frac{9}{4} \left[\sin^{-1} \left(\frac{1}{3} + \frac{2}{3} \right) \right] \\
 &= \frac{9}{4} \left[\sin^{-1} (1) \right] = \frac{9}{4} \left[\sin^{-1} \left(\sin \frac{\pi}{2} \right) \right] \\
 &= \frac{9}{4} \times \frac{\pi}{2} = \frac{9\pi}{8}
 \end{aligned}$$

Second method.

$$\begin{aligned}
 \text{L.H.S.} &= \frac{9\pi}{8} - \frac{9}{4} \sin^{-1} \left(\frac{1}{3} \right) = \frac{9}{4} \left(\frac{\pi}{2} - \sin^{-1} \left(\frac{1}{3} \right) \right) \\
 &= \frac{9}{4} \left(\cos^{-1} \left(\frac{1}{3} \right) \right)
 \end{aligned}$$

$$\left[\because \sin^{-1} x + \cos^{-1} x = \frac{\pi}{2} \right]$$

$$= \frac{9}{4} \sin^{-1} \sqrt{1 - \left(\frac{1}{3} \right)^2} \quad \left[\because \cos^{-1} x = \sin^{-1} \sqrt{1 - x^2} \right]$$

$$= \frac{9}{4} \sin^{-1} \sqrt{1 - \frac{1}{9}} = \frac{9}{4} \sin^{-1} \frac{2\sqrt{2}}{3} = \text{R.H.S.}$$

Q.13. Determine $2 \tan^{-1} \left(\frac{\cos x}{1 - \cos x} \right) = \tan^{-1} (2 \cot x)$

Soln. It is given, $2 \tan^{-1} \left(\frac{\cos x}{1 - \cos x} \right) = \tan^{-1} (2 \cot x)$

$$\Rightarrow \tan^{-1} \left(\frac{2 \cos x}{1 - \cos x} \right) = \tan^{-1} (2 \cot x) \quad \left[\because 2 \tan^{-1} x = \tan^{-1} \left(\frac{2x}{1 - x^2} \right) \right]$$

$$\Rightarrow \tan^{-1} \left(\frac{2 \cos x}{1 - \cos x} \right) = \tan^{-1} \left(2 \times \frac{1}{\sin x} \right)$$

$$\Rightarrow \frac{2 \cos x}{1 - \cos x} = \frac{2}{\sin x} \Rightarrow \frac{\cos x}{1 - \cos x} = \frac{1}{\sin x} \Rightarrow \cot x = 1$$

$$\Rightarrow \cot x = \cot \frac{\pi}{4}$$

$$\Rightarrow x = \frac{\pi}{4} \quad \left[\cot \frac{\pi}{4} = 1 \right]$$

Solved.